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i if x> 0, Make the substitution v = Inx of Problem 51 to find general

%q. (22) It solutions (for x > 0) of the Euler equations in Problems 52—
T
(23) S xPy'4xy -y=0 J’i./;czy” +2xy — 12y =0
2ill v e AN o /211 |
; and ry of %:y 4+ 8xy' =3y =0 S5 x*y' 4+ xy =0
1d distinct, ‘ \Vﬁy” - 3xy' +4y =0
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31. According to Problem 51 in Section 2.1, the substitution
5(0) = 30. v = In x (x > 0) transforms the second-order Euler equz-
tion ax‘y” + bxy' 4+ cy =0toa constant-coefﬁciem'!'m-
mogeneous linear equation. Show similarly that this same
substitution transforms the third-order Euler equation

25) ax’y” +bx*y" +cxy +dy=0
(where a, b, ¢, d are constants) into the constant-

coefficient equation

a——

d*y d*y dy
— s — - =10.
707 + (b —3a) 707 4+ (c—b+2a) I +dy=0

= Inx of Problem 51 to find general

: Make the substitution v
Problems 52

. : . solutions (for x > 0) of the Euler equations in
nearly indepen-  yprouph 58,
-all x such that

SZ Ay +xy +9y =0 :

:):—#0({; T2ty 4+ Txy +25y =0
. S A7y + 652 +hxy =0

3} =0, szy// ‘-'JC.Z)'” +X}’j =0

by one formula {2y 4322y +xy =0
graphs of these y 2y =32y + xy =0

‘58/?’7’ +6x2y" + Ty +y =0
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